Chapter 3 National Income

1. The returns to scale in the production function Y = K0.5L0.5 are:
A. decreasing.
B. constant.
C. increasing.
D. subject to wide fluctuations.



2. If a production function has two inputs and exhibits constant returns to scale, then doubling both inputs will cause the output to:
A. reduce by half.
B. stay the same.
C. double.
D. quadruple.


3. If the supplies of capital and labour are fixed and technology is unchanging, then real output is:
A. fixed.
B. determined by demand.
C. uncertain.
D. subject to wide fluctuations.


4. If a production function has the property of diminishing marginal product, then doubling:
A. all of the inputs will less than double the output.
B. all of the inputs will double the output.
C. all of the inputs will more than double the output.
D. one of the inputs will reduce its marginal product.


5. Consider the following production table:
	
	Labour
	Capital
	Output

	(i)
	1,000
	1,000
	10,000

	(ii)
	2,002
	2,000
	20,010



Assuming that the production function displays constant returns to scale, what is the marginal product of labour when labour and capital are both equal to 1,000?
A. 1
B. 5
C. 10
D. 20


6. Consider the following production table:

	Labour
	Capital
	Output

	1
	2
	3

	2
	2
	6

	3
	2
	8



By how much does the marginal product of labour decrease as labour input increases from 1 to 2 and from 2 to 3?
A. 0
B. 1
C. 2
D. 3


7. Euler’s theorem implies that if a production function exhibits constant returns to scale, then:
A. economic profit is zero.
B. accounting profit is zero.
C. the marginal product of labour equals the real wage.
D. the marginal product of capital equals the real interest rate.


8. If a firm with a constant returns to scale production function pays all factors their marginal products, then:
A. economic and accounting profits are both zero.
B. economic profit is zero and accounting profit is positive.
C. economic profit is positive and accounting profit is zero.
D. economic and accounting profit are both positive.


9. A competitive firm hires labour until the marginal product of labour equals the:
A. real wage.
B. rental price of capital.
C. price of output.
D. capital/labour ratio.


10. A competitive firm rents capital until the marginal product of capital equals the:
A. real wage.
B. real rental price of capital.
C. price of output.
D. capital/labour ratio.



11. Suppose that a major natural disaster destroys a large part of a country’s capital stock but miraculously does not cause anybody bodily harm. What will happen to the real wage rate?
A. It will not change.
B. It will rise.
C. It will fall.
D. It could rise or fall.


12. Which of the following is NOT a characteristic of the Cobb–Douglas production function?
A. Capital and labour receive equal fractions of income.
B. Economic profit is zero.
C. Factor payments are a constant fraction of income.
D. Constant returns to scale.


13. In the Cobb–Douglas production function, Y = KL1 – , the fraction of income spent as payments to labour is:
A. .
B. 1 – .
C. dependent on the amount of labour employed.
D. dependent on the amount of capital employed.


14. In a closed economy, the supply of goods and services must be equal to:
A. consumption.
B. consumption + investment.
C. consumption + investment + government purchases.
D. consumption + investment + government purchases − taxes.


15. Suppose that a consumer has a marginal propensity to consume of 0.7. If this consumer earns an extra €2, her consumption spending would be expected to increase by:
A. €0.60.
B. €0.70.
C. €1.40.
D. €1.70.


16. Suppose that a consumer has a marginal propensity to consume of 0.8. If this consumer receives an extra €2 of disposable income, her saving would be expected to increase by
A. €0.40.
B. €0.80.
C. €1.20.
D. €1.60.


17. If the real interest rate rises, the quantity of investment demanded:
A. will fall.
B. will not change.
C. will rise.
D. could rise or fall.


18. The real interest rate is equal to the nominal interest rate minus:
A. accounting profit.
B. economic profit.
C. taxes.
D. the inflation rate.


19. Investment depends on the ________ interest rate because higher inflation will ________ the value of the dollars with which the firm will repay the loan.
A. real; increase
B. nominal; increase
C. real; decrease
D. nominal; decrease


20. In a closed economy that is in equilibrium, investment is equal to:
A. private saving.
B. public saving.
C. private saving plus public saving.
D. disposable income minus consumption.



21. The government is running a budget deficit if:
A. government spending is greater than tax revenue.
B. tax revenue is greater than government spending.
C. tax revenue is greater than consumption spending.
D. tax revenue is greater than investment spending.


22. Private saving is equal to:
A. income − consumption.
B. income – consumption − taxes.
C. income − consumption − government spending.
D. income − consumption − government spending − taxes.


23. The supply of loanable funds, or “national saving,” is equal to:
A. income − consumption.
B. income − consumption − taxes.
C. income − consumption − government spending.
D. income − consumption − government spending − taxes.


24. In a closed economy, with total output and taxes fixed, if government spending rises:
A. consumption falls.
B. national saving rises.
C. the real interest rate falls.
D. investment falls.


25. In a closed economy with a fixed total income, a reduction in taxes will cause consumption:
A. to rise and investment to fall.
B. and investment both to rise.
C. to fall and investment to rise.
D. and investment both to fall.


26. Suppose that there is a positive shock to investment demand: that is, at every interest rate, the desired amount of investment rises. In a closed economy with the national saving fixed, the real interest rate will:
A. fall.
B. remain constant.
C. rise.
D. first fall and then rise.


27. According to the simple macroeconomic model presented in Chapter 3, which of the following will not be caused by an increase in government spending?
A. an increase in interest rate
B. a decrease in consumption
C. a decrease in investment
D. an increase in government debt


28. In a closed economy with output fixed, an increase in government spending matched by an equal increase in taxes will:
A. increase consumption.
B. increase the interest rate.
C. increase investment.
D. leave all other variables unchanged.


29. In a closed economy with fixed output, an increase in government spending without any change in taxes will lead to a(n):
A. increase in the real interest rate and a decrease in private saving.
B. decrease in the real interest rate and an increase in private saving.
C. decrease in the real interest rate and no change in private saving.
D. increase in the real interest rate and no change in private saving.


30. In the Supply and Demand of Loanable Funds model in Chapter 3, a decrease in taxes will shift the:
A. investment demand curve to the left.
B. investment demand curve to the right.
C. savings curve to the left.
D. savings curve to the right.


31. A leftward shift of the savings curve CANNOT be caused by a(n):
A. positive shock to consumption.
B. increase in the government budget deficit.
C. reduction in taxes.
D. increase in the real interest rate.


32. In the Supply and Demand of Loanable Funds model presented in Chapter 3, the variable that adjusts to equilibrate the supply and demand for goods and services is: 
A. government spending.
B. consumption.
C. taxes.
D. the real interest rate.




Answers

1b - If the amounts of capital and labour were both doubled, then output would double. This implies that the above production function has constant returns to scale. See Section 3-1.

2c - If a production function has constant returns to scale, then an equal percentage increase in all factors of production causes the same percentage increase in output. See Section 3-1.

3a - In this case, real output will be fixed. As discussed in Section 3-1, it can only change if capital, labour, or technology change.

4d - If a production function has the property of diminishing marginal product, then increasing the amount of one input reduces its marginal product. See Section 3-2.

5b - Since the above production function has constant returns to scale, row (ii) may be divided by 2 to yield the following information: 1,001 units of labour and 1,000 units of capital produce 10,005 units of output. Hence, the marginal product of labour when capital and labour are both equal to 1,000 is 5. See Section 3-2.

6b -When labour input increases from 1 to 2, the change in output is 3. This means the marginal product of labour is equal to 3. Likewise, the marginal product when labour input increases from 2 to 3 is equal to 2. Thus, the change in the marginal product of labour is –1. See Section 3-2.

7a - Euler’s theorem states that if each factor is paid its marginal product, then the sum of these factor payments equals output. This implies that economic profit is zero. See Section 3-2 for a more detailed explanation of Euler’s theorem.

8b - Euler’s theorem guarantees that economic profits are zero. Accounting profits equal economic profits plus the return to capital. Since the return to capital is positive, accounting profits must be positive. See Section 3-2.

9a - In order to maximize profit, a firm will hire labour as long as the revenue from an additional unit of labour (the marginal product of labour times the price of the output) is greater than or equal to the cost (the wage). Thus, the firm hires labour until the marginal product of labour equals the wage divided by the price of output. See Section 3-2.

10b - In order to maximize profits, a firm will hire capital as long as the revenue from an addition unit of capital (the marginal product of capital times the prices of the output) is greater than or equal to the cost (the rental price). Thus, the firm hires capital until the marginal product of capital equals the rental price divided by the price of output. See Section 3-2.

11c - As explained in Section 3-2, the real wage paid to each worker equals the marginal product of labour. If a large part of the capital stock is destroyed, then there will be less capital per worker, which means the marginal product of labour will be lower. This will result in a lower real wage.

12a - For an explanation of the properties of the Cobb–Douglas production function, see Section 3-2.

[bookmark: _GoBack]13b - Since the real wage equals the marginal product of labour (MPL), payments to labour (L) equal MPL × L. As shown in Section 3-2, the MPL of the above production function equals (1 – )Y/L. Therefore payments to labour equal (1 – )Y and (1 – ) is the fraction of income spent in payments to labour.

14c - As explained in Section 3-3, in a closed economy, the supply of goods and services is allocated among three uses—consumption, investment, and government purchases.

15c - Since her marginal propensity to consume is 0.7, this individual will consume €0.70 of every euroshe earns. Therefore, if her income rises by €2, her consumption spending will rise by €1.40. See Section 3-3.

16a - Since her marginal propensity to consume is 0.8, this individual will consume €0.80 of every euroshe earns. Therefore, if her disposable income increases by €2, she will consume an extra €1.60, and save an extra €0.40. See Section 3-3.

17a - To be profitable, the return on an investment must exceed its cost. The real interest rate represents the cost of investment. Thus, if the real interest rate rises, fewer investment projects are profitable, so the quantity of investment demanded will fall. See Section 3-3.

18d - As explained in Section 3-3, the real interest rate is equal to the nominal interest rate minus the inflation rate.

19c - As explained in Section 3-3, the nominal interest rate is the rate that investors pay to borrow money, but it is the real interest rate that firms care about when they make their investment decisions because higher inflation decreases the value of the dollars with which the firm will repay the loan.

20c - In equilibrium, the supply of loanable funds must equal the demand. In a closed economy, the demand for loanable funds is investment and the supply is the sum of private and public saving. Thus, investment must equal private saving plus public saving. See Section 3-4.

21a - If the government spends more than the revenue it receives from taxes, then it runs a budget deficit. See Section 3-3.

22b - Private saving equals income minus consumption and taxes. See section 3-4.

23c - National saving is equal to the sum of private and public saving. Since private saving is equal to income minus consumption and taxes and public saving is equal to taxes minus government spending, national saving equals income minus consumption and government spending. See Section 3-4.

24d - If government spending rises, then public saving falls. This means that national saving—the supply of loanable funds—falls. Thus the real interest rate must rise so that the demand for loanable funds—investment—falls. See Section 3-4.

25a - Lower taxes imply higher disposable income. This means that consumption will rise. This also means that national saving (income minus consumption and government spending) will fall. Since investment must equal national saving in a closed economy, investment must also fall. See Section 3-4.

26c - An increase in investment demand represents an increase in the demand for loanable funds. Since the supply of loanable funds (national saving) is fixed, the real interest rate must rise so that the quantity of investment demanded will fall and the market for loanable funds will remain in equilibrium. See Section 3-4.

27b - Consumption depends only on disposable income (income minus taxes). See Section 3-4.

28b - National saving (the supply of loanable funds) decreases since the reduction in consumption caused by the tax increase is not large enough to offset the increase in government spending. This means that the interest rate must rise so that investment (the demand for loanable funds) will also fall. See Section 3-4.

29d - Since output and taxes do not change, private saving does not change. National saving falls due to the increase in government spending. Since saving must equal investment, the fall in national saving causes the interest rate to rise so that the quantity of investment demanded also falls. See Section 3-4. 

30c - A decrease in taxes causes consumption to rise. This means that national saving falls. See Section 3-4.

31d - A leftward shift in the savings curve will cause an increase in the interest rate but cannot be caused by such an increase. See Section 3-4.

32d - See Section 3-4 for an explanation of the model.
